2524-vodni pl.~

| || 2523—trv. trav. por. | | |-|—2525—trv. trav. por.
J

-ornd p.

2527

2528 - ornd pida

(da

ornd pu

2529

2532 — ornd puda

2534 - ornd puada

tda

ornd pu

2535

k.0. Lipolec

-omnd p.——

Hostkovice u

2545

k..

tda

ornd pu

1749

POVRCH OZEMI

d G € R ISMT-"WNVX NAWY "1LAA 1H0¥d ANT300d - HVSE0

_ _ &NEIZ HOMOID0TONHO3L v
0% =l SIPAA 2 HOANOINHOAL V' (IA3r80 JOVININNNOA - 1¥3rd0

910z/5¢ "9 WZ

wjom - oumn| Qv INVZITVNY ANQVILAA-
o011 nvg. 9310d1=30INONISOH QOAOQOA . oy,

90300 €1 08€ ‘I/LT DAoploy

121 16 204 ¢ O 39! :
20900 10 086 100 OJSRN - MOLSIANI
I/E "wipu- oyx4opjod NVIILHH "Z "DNI 1oL d
weurjfay Yauepyz ‘Suy INVIY30Md ANO3A0d0Z TYAOOVIIM
o
™~ =3
Lo T
2 ~ e
o M ~
S 907 L6y — [9'66F — -
Yojod Auzajod ' ??jf = = %;ﬁ?ﬂ; = 85:88‘5 = %f -
[§'] [¥'I6v ~ ¥¢'66¥  |000Z
A A— — G7'86% — 7£'005 — 08'9S —
\
A — — 67'86% — 21005 — 0G'¥¥ §
=
o' — — 78'86% — 79'66% — 0G4S —
=
M
17 — — ¢/'86% — ¥8'66v —1{09'Gl !
«©
~
~
N — — 01'66% — 0v'005 — «——08'86] |—
8
8Ll — — /900G — G£'206 — 06'1L =
|
o)
f'e]
o' — — 19205 — 16'0G — 08'8¢ —
e
g
|
// ool — — 78905 — GG'G06 —109'C1 5
0lg] ol — — 61505 — 61905 —(O) *0L0| [
el — — 98'S05 — 67'£05 — 00'GS
=
B
|
6G'1 — — [T'90G — 9/'105 — 0¥'L¢ >
oG — — 89'90G — 11806 —O 0566
V90800~ 0o 100 — 1b'ene — L
2N NG or'l 11'£0S — 1#'80S — 00°0L
=
o™
2
o'l — — [6'90G — £7'80S —{ 0114
|
<
<
95 — — 18905 — £2'80S — 00"}l |8
o 2
O |8
L
o
19, — — 69'90G — 91'805 — 0Z'6L
o'l — — 15'906 — 18'20S — 091G
=
N
|
951 — — 9£'90G — 78'£05 —1 0007
=
6 - — 1£'90G — 96'£0S — 08'6
(@)
=
08l — — 12'905 — 16205 —{ 0116
18 — — G0'90G — 9/'£05 — 08'6G
69’1 — — 76'G0G — 1G'£0S — 0¥'sE
‘ . . ‘ . ‘ R w ‘
o oo puguredzau | o = e — e Oce |
Wmeﬁ ~ Il — — Z['G0S — ¢1'Z0S —109'96
VLIHOVS INZIA3Y LJ:}
2 3
£ S
= 3
< 6 — — 1%'605 — 08'905 —1 017/ |
(e ]
N
o o' — — 00'S0S — 0£'905 — 00°0¥ —
3
(o)
f'e]
6 — — [1'%0S — 91'905 — 001 |
~ >
Cs
Lol
QU= S~
N o ' — — G605 — 26605 —O N
—r~ S o0
=™ re) ©
— = _= 2 )
L <C | o
O X o _E
(vt O = o £ =
o 8 ﬁ_°\ = ) \‘E = E \<¥{ =
= = 3 S
g§§88 2 S = = 5 £ 82
= © o S z g 2 = = =
8\|— E N % % = o = <Er_ g %
X = & = S = S = ==

L 0,3-5,40

6,44—12,10-



